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No. Reference Rock type E z', av (GPa) E x', av (GPa) z', av x', av G z', av (GPa) Testing method
a Chen(1998) sandstone 33.96 40.02 0.134 0.140 14.91 Uniaxial compression
b Chen(1998) sandstone 41.28 39.46 0.184 0.163 18.24 Brazilian test
c Liao(1997) Argillite 51.35 68.36 0.163 0.196 20.98 Ultrasonic mesurement
d Wang(1998) schist 45.17 78.57 0.250 0.207 18.53 Uniaxial compression
e Wang(1998) slate 58.90 121.30 0.110 0.190 15.10 Ultrasonic mesurement
f Wang(1998) argillite 42.05 55.45 0.140 0.205 14.10 Uniaxial compression

g Gatelier(2002) sandstone 20.10 21.80 0.173 0.168 8.80
Triaxial compression test,

c=0MPa

h Amedai(1996) sandstone 46.75 42.38 0.155 0.155 21.87
Uniaxial compression, Brazilian,
True triaxial & hollow cylinder

test

i Oka(2002 tuff 0.90 1.02 0.061 0.267 0.19
Triaxial compression test,

c=0.19MPa

j Talesnick(1999) sandstone 30.50 37.70 0.182 0.186 16.07
Uniaxial compression, Brazilian,
True triaxial & hollow cylinder

test
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C v_ C v_Ez' C v_ z' C v_Gz' C v_Ex' C v_ x'

This study 0.068 0.054 0.076 0.028 0.132 0.431
±10%

±5%

Nunes(2002)11) 0.248 0.060 0.120 - 0.100 0.470
±10%
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